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HR3—2 BEWICHERTHLEESNDIERCETHEIE (1/1) _ _ _ WEEE | FRIUEE
SEROME | #mES | 167A1009 B \ FHBHFI-1 | AT TE b [T Rl i T K o7 5 1 T 7 A8 B Al
) SERIhO TImIChHEET 5 i alERTR
*éi;],}!ﬁg TREFOBBOSILEADKES TEFEOHBESILIOKRES TREOBEBOEILHDKES TREDHEBSSLADKRES
5 X 4 ‘e [THALOER] hoxes| 5 o [THALOKF] &z [ AOKES X 4 & | ERALOLSE [ hokES| o . [EHLLORS [ &S [ hoxss
(m) (m) (kN/m) 26 Bt (m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/mM%Z#B% % 1.00[/0.00 ~ 0.81 112.14[3mZ#BRSB| - ~ = - -| 100kN/M%E#B 2% 1.00{ 1053 ~ 1293 112.14|3m%#BZ 5 ad ~ = = -
ZNLUS 1.00/ 081 ~ 860 100.00| Zhlust | 000 ~ 8.60f 217 11.40 Zh st 1.00f 500 ~ 1053 100.00] Zh st | 500 ~ 1293 217 11.40
9 100kN/mM%Z#B% % -l -~ = -|3m%Ei#EZ S -~ = = -| 100kN/ Mm%z % = = ~ = —-|3m%Ei#B2 5 . ~ - - -
Zh Lot 1.00/ 000 ~ 6.84 86.61| ZhList [000 ~ 6.84| 1.90 9.98 ZHLS 1.00 500 ~ 881 86.61] #nLis | 500 ~ 881] 1.90 9.98
3 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 6.68 84.28| #hList [000 ~ 668 1.95 10.20 ZHLS 1.00 500 ~ 873 84.28] #hulst | 500 ~ 873] 1.95 10.20
4 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 5091 7403] #hbLis 000 ~ 591] 220 11.53 ZHLS 1.00 500 ~ 964 7403] #hbils | 500 ~ 9.64| 2.20 1153
5 100kN/mM#Z#B% % -l -~ = -|3m%# 2% 000 ~ 0.00| 3.00 15.76| 100kN/m%E#B 2% = -~ = -|3m%#x%|10.00 ~ 12.78] 3.00 15.76
Zh st 1.00/ 000 ~ 551 68.82| £h L4t | 000 ~ 551| 3.00 15.73 ZHLS 1.00f 500 ~ 12.78 68.82] #hLis | 500 ~ 10.00|] 3.00 15.73
100kN/m%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#B% % ~ 3ImEBEZD ~
Zh st ~ Zh st ~ Zh st ~ Zh st ~
100kN/mM%Z#BZ % ~ ImERBZ B ~ 100kN/mM%Z#BZ % ~ ImEBEZD ~
Zh s ~ Fhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh Lot ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Fhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
Zh st ~ Zhn st ~ Zh st ~ Zh st ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/m#%#BZ % ~ ImEBEZD ~
ZFh s ~ FhnLst ~ Zh LS ~ Zh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZHN LS ~ ZThLLSE ~ FHLSE ~ T IO0)) ~
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